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Q.1. two players R and C have one coin each. After a signal each of them exposes the coin . Player R wins a 
unit when there are two heads, wins nothing when there are two tails and loose ½ unit when there is one head 
and 1 tail. Determine the payoff matrix, the best strategies for each player and the value of game. 

 



Q.2. A and B play a game in which each has three coins, a 5 paise, a 10 paise and a 20 paise coin. Each player 
selects a coin without the knowledge of other’s choice. If the sum of the coins is an odd amount, A wins B’s 
coin and if the sum is even , B wins A’s coin. Find the best strategy for each player and value of game. 

 

 



Q.3. Find the solution of following game by using law of dominance: 

A 

B 
 B1 B2 B3 B4 

A1 3 2 4 0 
A2 3 4 2 4 
A3 4 2 4 0 
A4 0 4 0 8 

 

 



Q.4.Solve the game whose payoff matrix is given below: 

A 

B 
 B1 B2 

A1 6 -1 
A2 0 4 
A3 4 3 

 

 

 

Q.5.  A has two ammunition stores, one of which is twice as valuable as the other. B is an attacker who can 
destroy an undefended store but he can attack only any one of them at a time. A knows that B is about to attack 
one of the stores but does not know which one. What should he do? Note that he can successfully defend one 
store at a time? 



 

 
 


